
You have mentioned that bequests cannot exceed a third of the estate. A man makes a bequest for a man for a third of his estate and another third for another man. The heirs do not consent. How will this bequest be implemented?

Question 2375) - You have mentioned that bequests cannot exceed a third of the estate. A man
makes a bequest for a man for a third of his estate and another third for another man. The heirs
do not consent. How will this bequest be implemented?

A: A third of the estate will be equally divided between the two.

~ al-Quduri ~

  

 1 / 1


